



$$(50) \int_0^{\pi} x \sin 2x \, dx$$

$$u = x \quad dv = \sin 2x \, dx$$

$$du = dx \quad v = -\frac{1}{2} \cos 2x$$

$$\int x \sin 2x \, dx = -\frac{1}{2} x \cos 2x + \frac{1}{2} \int \cos 2x \, dx = -\frac{1}{2} x \cos 2x + \frac{1}{4} \sin 2x + C$$

$$= \frac{1}{4} (\sin 2x - 2x \cos 2x) \Big|_0^{\pi} = -\frac{\pi}{2}$$

$$(52) \int_0^1 x \arcsin x^2 \, dx$$

$$u = \arcsin x^2$$

$$dv = x \, dx$$

$$du = \frac{2x \, dx}{\sqrt{1-x^4}}$$

$$v = \frac{x^2}{2}$$

$$= \frac{x^2}{2} \arcsin x^2 - \int \frac{x^3 \, dx}{\sqrt{1-x^4}} = \frac{x^2}{2} \arcsin x^2 + \frac{1}{4} (2)(1-x^4)^{1/2} + C$$

$$\int_0^1 x \arcsin x^2 \, dx = \frac{1}{2} \left[ x^2 \arcsin x^2 + \sqrt{1-x^4} \right]_0^1 = \frac{1}{4} (\pi - 2)$$

$$(53) \int_0^1 e^x \sin x \, dx$$

use integration by parts twice

$$u = \sin x$$

$$dv = e^x \, dx$$

$$du = \cos x \, dx$$

$$v = e^x$$

$$\int e^x \sin x \, dx = e^x \sin x - \int e^x \cos x \, dx$$

$$u = \cos x$$

$$dv = e^x \, dx$$

$$du = -\sin x \, dx$$

$$v = e^x$$

$$\int e^x \sin x \, dx = e^x \sin x - \left[ e^x \cos x - \int e^x (-\sin x \, dx) \right]$$

$$2 \int e^x \sin x \, dx = e^x \sin x - e^x \cos x$$

$$\int_0^1 e^x \sin x \, dx = \frac{e^x \sin x - e^x \cos x}{2} \Big|_0^1 = \frac{e}{2} (\sin 1 - \cos 1) = 0.909$$

$$(54) \int_0^2 e^{-x} \cos x \, dx$$

$$u = \cos x \quad dv = e^{-x}$$

$$du = -\sin x \, dx \quad v = -e^{-x}$$

$$= -e^{-x} \cos x - \int e^{-x} \sin x \, dx$$

$$u = \sin x \quad dv = e^{-x} \, dx$$

$$du = \cos x \, dx \quad v = -e^{-x}$$

$$\int e^{-x} \cos x \, dx = -e^{-x} \cos x - \left[ -e^{-x} \sin x + \int e^{-x} \cos x \, dx \right]$$

$$2 \int e^{-x} \cos x \, dx = e^{-x} \sin x - e^{-x} \cos x$$

$$\int_0^2 e^{-x} \cos x \, dx = \left[ \frac{e^{-x} \sin x - e^{-x} \cos x}{2} \right]_0^2 = \frac{-e^{-2}}{2} [\sin 2 - \cos 2] + \frac{1}{2}$$

$$(56) \int_0^1 \ln(1+x^2) \, dx$$

$$u = \ln(1+x^2) \quad dv = dx$$

$$du = \frac{2x \, dx}{1+x^2} \quad v = x$$

$$= x \ln(1+x^2) - \int \frac{2x^2 \, dx}{1+x^2} = x \ln(1+x^2) - 2 \int \frac{(x^2+1-1) \, dx}{x^2+1}$$

$$= x \ln(1+x^2) - 2 \int \left( 1 - \frac{1}{1+x^2} \right) dx = x \ln(1+x^2) - 2x + 2 \arctan x \Big|_0^1$$

$$= \ln 2 - 2 + \frac{\pi}{2}$$

$$(58) \int_0^{\pi/4} x \sec^2 x \, dx$$

$$u = x \quad dv = \sec^2 x \, dx$$

$$du = dx \quad v = \tan x$$

$$= x \tan x - \int \tan x \, dx = x \tan x + \ln(\cos x) \Big|_0^{\pi/4}$$

$$= \left( \frac{\pi}{4} + \ln\left(\frac{\sqrt{2}}{2}\right) \right) - 0 = \frac{\pi}{4} - \frac{1}{2} \ln 2$$

$$(64) \int x^2(x-2)^{3/2} dx$$

Using a tabular method

alternate signs	u and its derivatives	dv and its integrals
+	$x^2$	$(x-2)^{3/2}$
-	$2x$	$\frac{2}{5}(x-2)^{5/2}$
+	$2$	$\frac{4}{35}(x-2)^{7/2}$
-	$0$	$\frac{8}{315}(x-2)^{9/2}$

$$= \frac{2}{5} x^2 (x-2)^{5/2} - \frac{8}{35} x (x-2)^{7/2} + \frac{16}{315} (x-2)^{9/2} + C$$

$$= \frac{2}{315} (x-2)^{5/2} (35x^2 + 40x + 32) + C$$